_ I
88-98 CHEVY/GMC EXTENDED CAB ' o T T

QBLUNG INTO BOOY AND FRAME IS REQIARFD. @ TO FIT THE WHEEL WELL
MSIAJADON QDY DESCRIPTION on GCTRE INSTALLING TO RUANING BOARD @
EARTS_TIST 1 RUNNINC-GOARD | DRVER & | PASSENGER 18 S/18°x—3/4° BOLT ‘
2 STONE GUARD 1 LEFT & 1 RIGHT 16 5/18-18 HEX WASHER HEAD NUT . WNSTALL END CAP TO BOAMD |
8 3/8°) SELF TAPPNG SCREW 4  FUT BVMOET, FL90 ! - WITH 3/8° SELF TAPPING BOLT
12 §14x3/4° SHEET METAL SCREW 4 0ONT TAB, BT ;
8 1/4x5/8° SQUARE HEAD SCREW 4 MORTZDNTAL BRACKET, SUPPORT, 3124F W
8 |/‘_w HEX NUT 1 OND CAP 1 LEFT & 1 RIOHT wd bovvavevncons . @
g3
J D T 1/ WDON * 5/18° NUT DRWER ° 3/%° WJT ORVER 2
MEASURE FROM FRONI WHEEL WELL 10 JRACKET LOCATION , \
MARK THIS OIMENSION ON THE PINCH WELD /
(CRIVERS SICE SHOWN) | P l ; / @ —
Py i
H < SUDE TWO 1/4°x3/8"°
REAR DRACKE] LOTANONS o EACH TRACK,

SECURE BOARD TO BRACKET
WITH (2) 1/4° NUTS

ral
"'—’_—TP #14x3/4" SCREW

o T = 0 @
§ WTH BOARD LEVEL NGHTEN REPEA
wount AT LocATow snown AT (1) AL LDOSE BOLTS T FOR OTHER SOE

Choose reliable running boards offered on our website.


https://www.carid.com/owens/
https://www.carid.com/running-boards.html



